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CLASS – 5 ( MATHS )

SYLLABUS

1. Numbers up to 99, 99, 99, 999.
2. Roman Numerals.
3. Estimation.
4. Addition and Subtraction of large numbers.
5. Multiplication and Division of large numbers.
6. Multiples and Factors.

CHAPTER –Numbers up to 99,99,99,999

In previous class, we have learnt about the face value, place value, expanded form of the numbers up to 9, 99, 999.

Some important point I will explain again to remind you-

1. Commas are used to separate each period.
2. Marking periods helps us to read large number and also write numbers correctly.
3. The place value of the digits in a number can be worked out easily.

The places and periods of 8 and 9 digit numbers

	
Period
	
Crores
	
Lakhs
	
Thousands
	
Ones

	

Place
	Ten Crores
	Crores
	Ten Lakhs
	Lakh
	Ten Thousands
	Thousands
	Hundreds
	Tens
	Ones
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           FACE VALUE – The face value of a digit in a numeral is the digit itself irrespective of its 
                                           places in that numeral.
                               For Example – The face value of 8 in the given numeral 87523 is 8.
          
           PLACE VALUE – The place value of a digit in a numeral is its value according to its place 
                                             in the place value chart.
                                 Place value of a digit = Digit × Value of places of the digit.
                                             For Example – The place value of 9 in the given numeral 89752 is   
                                             9×1000 = 9000.

Let us take some important examples- 

· Example 1-Write the number name of the following numerals.
a) 2, 12, 721 = Two lakh twelve thousand seven hundred twenty one.
b) 80, 800    = Eighty thousand eight hundred.


· Example 2-Write the numeral for the following number names.
a) Two lakh twenty three thousand six hundred seventeen = 2, 23, 617.
b) Two lakh fifty thousand two = 2, 50, 002.

· Example 3-Write the following in expanded form.
a) 2, 87, 401 = 200000 + 80000 + 7000 + 400+1.
b) 32,817    = 30000 + 2000 + 800 + 10 + 7.

· Example 4- Write the face value, place value and period for the underlined digits in the given numeral.

	Numeral
	Face Value
	Place value
	Period

	5,89,201
	8
	80,000
	Thousands

	3,26,16,543
	2
	2000000
	Lakhs
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· Question 1. Write the number name of the following numerals.
a) 3,85,611
b) 4,17,899
c) 2,84,325
d) 2,81,602

· Question 2. Write the numerals for the following number names.
a) Four lakh six thousand eight hundred twenty six.
b) Nine lakh sixty thousand two hundred twenty six.
c) Three lakh thirty thousand thirty.
d) Four lakh fifty two thousand one hundred thirty six.
e) Five lakh eighty two thousand three hundred four.

· Question 3. Write the given numeral in the expanded form.
a) 9,35,801
b) 2,86,732
c) 4,85,201
d) 64,526
e) 5,67,801

· Question 4. Write the face value, place value and period for the underlined digits in the 
                     following numerals.
a) 42,965
b) 2,85,639
c) 6,32,815
d) 2,87,531
e) 9,32,850

· Question 5. Write the table of 3, 5, 6, 8, 9, 12, 13 and 14.

Note- Please do this assignment in your  copies. It will be checked when the school re-opens.

SOLUTION TO WORKSHEET-2
( Uploaded on 11/05/2020 )

Answer.1. (a) Estimated Sum = 46281000
                  (b) Estimated Sum = 89627000

Answer.2. (a) Estimated Sum = 41700
                  (b) Estimated Sum = 90400

Answer.3. (a) Estimated Difference = 316000
                  (b) Estimated Difference = 6352000

Answer.4. (a) Estimated Difference = 3800
                  (b) Estimated Difference = 38500

Answer.5. (a) Estimated Product = 30000
                  (b) Estimated Product = 140000
                  (c) Estimated Product = 150000
      (d) Estimated Product = 4080000

Answer.6. The estimated population of the village is 5000.

Answer.7. (a) Estimated Quotient = 100
                  (b) Estimated Quotient = 1400
                  (c) Estimated Quotient = 900
                  (d) Estimated Quotient = 1400
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